

http://www.badboymowers.com/



http://www.badboymowers.com/




























Parts List
ITEM | QTY PART NUMBER DESCRIPTION
1 1 326-0105-00 Tiller Gear Box plate
2 1 301-0044-00 Tiller Skid weldment RH
3 1 301-0045-00 Tiller Skid Weldment LH
4 1 350-0030-00 Side Gear box
5 1 350-0029-00 tiller Gear Box
6 1 322-0012-00 Tiller Bearing Hub
7 1 314-0003-00 PTO Guard
8 4 | 318-0037-00 1/4-20 x 1/2" Hex Bolt with lock compound
9 4 019-7040-00 1/4 USS FLAT WASHER (3/4 OD) ZINC
10 1 367-0001-00 Document Holder
1 2 018-2007-00 5/16-18 X 1 HEX CAP SCREW (GR.5) ZINC
12 2 019-8044-00 5/16 USS FLAT WASHER (7/8 OD) ZINC
13 2 013-9002-00 5/16-18 HEX SERRATED FLANGE NUT HARD/ZINC
14 27 | 318-0036-00 1/2-13X1-1.75 Hex C/S Grade 8
15 1 339-0103-00 Tiller Stand Weldment
16 27 ] 013-8050-00 1/2-13 NYLON INSERT FLANGE LOCKNUT ZINC
17 6 318-0038-00 7/16-20 X 2 HEX CAP SCREW (GR.5) ZINC
18 6 313-0025-00 7/16" Nylock Flange nut
19 1 344-2007-00 1/2"'x3" Receiver Bent Hitch Pin
20 2 340-0017-00 Cat 1-2 Draw pin
21 2 340-0014-00 7/16"x2x Lynch pin
22 4 019-5007-00 1/2 SPLIT LOCKWASHER (GR.8) ZINC/YELLOW
23 4 018-4704-00 1/2-13 X 1 HEX CAP SCREW (GR.5) ZINC

PAGE 12



PARTS SECTION: 4'/5'/6' Tiller parts

-
|
@ X ] o+ !
[ K]
Parts List
ITEM | QTY PART NUMBER DESCRIPTION
1 1 388-3037-00 4t Tiller Tailgate weldment
2 1 388-3035-00 5ft Tiller Tailgate weldment
3 1 388-3033-00 6ft Tiller Tailgate weldment
4 1 317-0009-00 6Ft tiller gate pin
5 1 317-0008-00 5Ft filler gate pin
6 1 317-0007-00 4Fttiller gate pin
7 6 319-0011-00 3/8 FLAT WASHER USS (1" OD) ZINC
8 6 020-7022-00 1/8 X 1-1/2 COTTER PIN ZINC
9 1 317-0001-00 4ft Rotor Bar Assembly
10 1 317-0002-00 5ft Rotor Bar Assembly
11 1 317-0003-00 6ft Rotor Bar Assembly
12 1 317-0004-00 4Ft hex bar
13 1 317-0005-00 5 Fthex bar
14 1 317-0006-00 6 Ft hex bar
15 1 314-0023-00 4ft Hex Bar Sleeve
16 1 314-0024-00 5ft Hex Bar Sleeve
17 1 314-0025-00 6ft Hex Bar Sleeve
18 1 347-0007-00 Tiller Chain Assembly
19 1 338-0020-00 Left Hand Tine
20 1 338-0019-00 Right Hand Tine

PAGE 13



WARRANTY
OWNER/OPERATOR’S RESPONSIBILITY

It is the owner and/or operator’s responsibility to read the owner’s manual before use. Failure to read the
owner’s manual is considered a misuse of this equipment.

It is the owner and/or operator’s responsibility to inspect the product and to have any part(s) repaired or
replaced before continued operation. Failure to do so could cause damage, excessive wear to other
parts, or jeopardize operator safety.

LIMITED WARRANTY

Bad Boy Implements warrants to the original purchaser of any new Bad Boy Implement(s) that the
equipment be free from defects in material and workmanship for a period of one (1) year from date of retail
sale. (3 year on Gearbox.)

At Bad Boy Implements request, the customer will make the defective part available for inspection by Bad
Boy Implements and/or return the defective part to Bad Boy Implements. Transportation charges prepaid.

WHAT THIS WARRANTY DOES NOT COVER:

This warranty does not cover defects caused by depreciation or damage caused by wear, accidents,
improper maintenance, improper use or abuse of the product, alterations, or failure to follow the instruction
contained in the Owner’s Manual for operation and maintenance.

Normal maintenance service and normal replacement items such as, worn blades, or normal deterioration
of exterior finish due to use or exposure.

Bad Boy Implements will not be responsible for the pickup and delivery

of a machine for warranty purposes or inspection.

PAGE 14



WARRANTY LIMITATION:

THERE IS NO OTHER EXPRESSED WARRANTY. ANY WARRANTY THAT MAY BE IMPLIED FROM
THIS PURCHASE INCLUDING MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE IS
HEREBY LIMITED TO THE DURATION OF THIS WARRANTY AND TO THE EXTENT PERMITTED BY
LAW ANY AND ALL IMPLIED WARRANTIES ARE EXCLUDED. Some states do not allow limitations on
how long an implied warranty lasts, so the above limitations may not apply to you.

BAD BOY IMPLEMENTS WILL NOT BE LIABLE FOR ANY INCIDENTAL, CONSEQUENTIAL, OR
SPECIAL DAMAGES AND/OR EXPENSES IN CONNECTION WITH THE PURCHASE OR USE OF THE
IMPLEMENT. Some states do not allow the exclusion or limitation of incidental or consequential damages,

so the above limitation(s) or exclusion(s) may not apply to you.
HOW TO OBTAIN SERVICE UNDER THIS WARRANTY:

Warranty service can be arranged by contacting the dealer where you purchased the mower or by contacting
Bad Boy Implement at Dustin.Tissiere@badboymowers.com.

Proof of the date of purchase may be required to verify warranty coverage.

B. Warranty claims will not be reviewed or paid unless the warranty registration is
received by Bad Boy Implements within 30 days of the retail purchase date.

Record the model number, serial number and date purchased. This information will be helpful obtaining
parts or service if required.

SERIAL NUMBER

DATE OF RETAIL SALE

PLACE OF PURCHASE

PAGE 15



mailto:Dustin.Tissiere@badboymowers.com

I
B,

BAD BOY
IMPLEMENTS

bd 4

www.badboymowers.com
Bad Boy, Inc.
102 Industrial Drive
Batesville, Arkansas 72501



	TO THE DEALER
	PAGE 4

	SAFETY RULES
	OPERATION
	■ NEVER ALLOW RIDERS ON POWER UNIT OR IMPLEMENT!

	STORAGE

	GENERAL INFORMATION
	WARNING

	OPERATION
	SIZING  PTO  / OPERATING
	CHECK DRIVELINE MAXIMUM LENGTH
	CHECK DRIVELINE MAXIMUM ANGLE

	OPERATING  / MAINTENANCE
	OPERATING INSTRUCTIONS
	Never travel at a fast ground speed while using the tiller, this could damage it. Never attempt to turn the tractor or travel in reverse with the PTO engaged and the tiller in the ground. Always raise the tiller out

	MAINTENANCE


	OWNER SERVICE
	WARNING
	■ Keep all persons away from operator control while performing adjustments, service, or maintenance.

	WARNING
	■ Never go underneath equipment (lowered to the ground or raised) unless it is properly blocked and secured. Never place any body part underneath equipment or between moveable parts even when the engine has been turned off. Hydraulic system leak down,...

	WARRANTY
	LIMITED WARRANTY
	WHAT THIS WARRANTY DOES NOT COVER:
	BAD BOY IMPLEMENTS WILL NOT BE LIABLE FOR ANY INCIDENTAL, CONSEQUENTIAL, OR SPECIAL DAMAGES AND/OR EXPENSES IN CONNECTION WITH THE PURCHASE OR USE OF THE
	HOW TO OBTAIN SERVICE UNDER THIS WARRANTY:

	102 Industrial Drive




